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Limit02 piecewise for No.l
N]_[f()_[4x+1 x < 1} _1}
TN Tl rx—7 x>= 1077

x |0.8000]0.900010.9900]10.999010.9999|.. |Ja =1]...11.000111.001011.010011.1000(1.2000 |
5 Doox<35
Nozz[f(x):[xu : x>=5}’“:5}
| x [4.8000[14.900014.990014.999014.9999|.. |a = 5]...15.000115.0010]5.010015.100015.2000/
I 2+x ¢ x<4 ] ]
2 : x=4
No3=|f(x)=| 5 ;D 4<x<8|a=8
5 : x=38
L 13 —-x x>8 i
| x |7.8000]7.9000(7.990017.9990]7.9999|.. |a = 8]...[8.0001]8.0010/8.0100/8.1000/8.2000]

4x+1 = x<1 i
Nod = f(’C)_[—7x—7 cox>= J
L[ao=-4,B=-1,y=0,0=3,e=1]]

2x+3 x< -2
Nos — fix)=|-1-x : -2 <x<=4
-5 : x> 4

L[o=-6,=0,y=5,0=4,e=-2]]

No6=[a=-11,B=-10,y=-6,5=-1,5=8]
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Limit02 piecewise Answers for No.l

Ans01 > x | 0.8000] 0.9000| 0.9900] 0.9990|1 0.9999]|...| a = 1 ]...] 1.0001| 1.0010| 1.0100| 1.1000| 1.2000]|
f(x) | 4.2000] 4.6000| 4.9600| 4.9960| 4.9996|...|] £( 1) = -14 |...|-14.0007/-14.0070[-14.0700|-14.7000|-15.4000]
lim f(x)=5, , lim f(x)=-14, , lim f(x)=does not exist, ," # f(x) is discontinuous at x = 1"
x—1- x— 1+ x—>1
Ans02 > x | 4.8000| 4.9000| 4.9900] 4.99901 4.9999|...| a = 5 ... 5.0001] 5.0010] 5.0100| 5.1000| 5.2000]|
f(x) | 5.0000] 5.0000| 5.0000| 5.0000| 5.0000|...] £( 5) = 6 |...] 6.0001] 6.0010] 6.0100| 6.1000] 6.2000]|
lim f(x)=5, , lim f(x)=6, ,lim f(x)=does notexist, ,"#f(x) is discontinuous at x = 5"
x5 x5+ x—=5
Ans03 > x | 7.8000] 7.9000| 7.9900] 7.99901 7.9999|...| a = 8 |...| 8.0001] 8.0010] 8.0100| 8.1000| 8.2000]|
f(x) | 5.0000] 5.0000] 5.0000|] 5.0000] 5.0000[...1 £( 8) = S5 ... 4.9999| 4.9990| 4.9900| 4.9000] 4.8000]
lim f(x)=5, , lim f(x)=5, ,lim f(x)=5, ,"#f{(x)iscontinuous at x = 8"
x— 8- x— 8+ x—8
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity |
Ans04 -4 | =15 | -15 | -15 | -15 | Continuous |
-1 | -3 | -3 | -3 | -3 | Continuous |
0 | 1| 1] 1| 1 | Continuous |
3 | -28 | -28 | -28 | -28 | Continuous |
1 | -14 | 5 | -14 | DNE | Discontinuous |
Ans05 -6 | -9 | -9 | -9 | -9 | Continuous |
0 | -1 | -1 | -1 | -1 | Continuous |
5 -5 | -5 | -5 | -5 | Continuous |
4 | -5 | -5 | -5 | -5 | Continuous |
-2 | undefined | -1 ] 1| DNE | Discontinuous |
Ans06 -11 | 3| 1] 1] 1 | Discontinuous |
-10 | 2 | 1] 2 | DNE | Discontinuous |
-6 | 1| 1] 1| 1 | Continuous |
-1 | undefined | infinity | 1| DNE | Discontinuous |
8 | -1 3 3] 3 | Discontinuous |
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